SIMPLE TRIGONOMETRIC EQUATIONS

1 Solve for values of @ and x between 0 and 21
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SIMPLE TRIGONOMETRIC EQUATIONS

1 Solve for values of @ and x between 0 and 27 inclusive:
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SIMPLE TRIGONOMETRIC EQUATIONS

3 The solution to +2sin28+1=0 for 0 < < 2rris:
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SIMPLE TRIGONOMETRIC EQUATIONS

5 Solve between 0 and 2x inclusive:
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SIMPLE TRIGONOMETRIC EQUATIONS

5 Solve between 0 and 2 inclusive: - .
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SIMPLE TRIGONOMETRIC EQUATIONS
V3

7 If 0 < x< 2, the solution to sinx < 5 is:

A x<Z B xS%oerz—;L c OSxS%oer%j—r- D OSxS%orZHSxSZN

i {3 aw  saxg AT

2
o Xx{T or 21 x <Lt Ko,eym@
3

(b) cosx< 1

8 f0<x<2msolve: (a) sinx= 3

N | bt

Q) gy I LS ST
€ 6 6

_L) le(i- <> MZ<C®I /(‘ Iz

2 3

T T
R G

Section 7 - Page 6 of 6



